Četrtek,  2. 4. 2020   (9.raz., 1. in 2. sk.)

Rešitve včerajšnjih nalog:
1.  a)   8,94 m,   12,65 m,   14,42 m, d = 14,97 m
     b)   11,66 m,   19.04 m,   17,28 m, d = 19,96 m
2.  P = 294 m2,  V = 343 m3,  a = 7 m
3.  a) P = 792 cm2,  V = 1440 cm3,  b = 8 cm
     b) P = 1660 cm2,  V = 4200 cm3,  c = 20 cm
4.   P = 384 cm2,  V = 512 cm3,  a = 8 cm,  pl = 256 cm2, 
        11,28 cm (8 cm),  d = 13,84 cm (8 cm)  

Zapis v zvezek: 
                 Šolska vaja
1. Zbirka nalog, 2. del str. 48 / 4
2. Zbirka nalog, 2. del str. 48 / 7
3. Zbirka nalog, 2. del str. 51 / 42


